MATH 141 HOMEWORK 3 DUE DATE: MONDAY, MAY 22ND

Solutions

Name:
This homework is due Monduy, May 22nd. If you have questions regarding any of this, feel free to
ask during office hours or send me an email. When writing solutions, present your answers clearly
and neatly, showing only necessary work.

1. Caleulate the derivative of f(x) = sin(da? — x) - (322 -+ 2). P(-odul.c,l: + Cheun

(8x - )cos(bot -2 ) (3o2) + sin(bx-x) b .

Auswer:

2. Calculate the derivative of f(z) = sec(2z) + 5z + csc(z?).
Chenn Bover  chean

2sec(zx)en(zx) + 6 - Lokt cse ()

Answor:

d . .
3. Find d—y if y! + cos(zy) = tan(x?) + e¥. Simplily you answer.
T

4 63%_ - (:C'%\ﬂl- +_5>5W\(1j) = 115&61(\x1) + eg_d'a:%c
(49’ o ed) e’) % = 2ocsec(x’) +Y sy )

_0_(_"’), _ 72 xcsec' (™) + 35@(;3)
o q'lj3 ~ DCS) (xﬁ)_e_‘ﬂ

\V/

Answer:
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1. Let 2%y + a1 = 2.

d .
(a) Find d—;{ Simplify your answer.

?)Dcﬂ ,\—-QCM“,S-{'BC(UZOL‘% Q

(3c5+35¢32)—53-: ~Y “33"’9
dy _ —y(d+de)
dx T T (xt+3y°),

Answoer:

(b) Fmd — You do not need to simplify your answer.

d\lﬂ QC(fo'{'?)ﬂl)[ (250\1-{-6&) (Y+ 31)0\1]
cx? - Eﬂ(ﬂ Ty~ ) [DC +3Y +x(2x+630\1)]

2
(5¢ (DY)

Answer:

Answer:

(b) Use your answer [rom part a) to find the equation of tangent line through the point (4. ~3). Il you did not get an

d .
answer for part ¢) you may assume -&E =5 at (4,—3). (Note that this is not the correct auswer).
Ay

dy A 5+3:*%(1"*)

A
Answer: 'j -

T3

R

The End.



